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[) Choose the correct answer.

1. Ram had 39 boxes of cans. These were to be divided among 13
workers. Each box contains 20 cans. How many cans will each

worker receive?

a.70 b. 50 c. 60

2. 780 mangoes were put equally into 12 cartons. Rita bought 3
cartons. How many mangoes did rita buy?

a. 185 b. 195 c. 165

3. jaya makes shirts. She can make 7 shirts with 28 m of material.
How many meters of material would be required to make 308 shirts?

a. 1232 b. 1234 c. 1235

Il) Choose the correct answer.
1. 427 +24

a.15R 20 b.17R 19 17 KR1b

2.440 + 15

d.29R5 b.29R3 C.29R 4
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I1I) Match the following.

1.244 +27

2.3100 + 100

4.829 +14
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